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VDI GROUP
VDM 3323 Material Growg) 1-5 68 10-11 12-13 14 15-18 17-18 21-25 a7 38
EMG GROUP
- nterind Groug) 11-12 13-14 15 21,23 22 31-32 33 T1-74 41-53 18
ETG02 140-240 | 120-220 | TO-150 | 120-200 | 140 -250 | 140 - 220 | 150 - 240 - 25-45 40 - 80
ﬁg ET&2P 140-240 | 120-220 | T0-150 - - 140 -220 | 150 - 240 - 40 - 80
ET20P - - - - - - 300 - BOO -
=T
Insert #o| min (max | min | max | min (max | min {max | min | max | min [ max | min | max | min | max | min [ max | min | max
ol
ADKT 1505 fz (096 | O30 | 096 | O30 | D16 | 025 | 016 | 025 | 096 | 0.30 | 016 | O0.30 | OLI6 | OL3D = = 016 | 025 | 016 | D20
- dg 05 | 140 | 05 | 140 | 05 | 130 | OS5 | 130 | 05 (140 | 05 | 140 | 05 | 140 = = 05 | 130 | 0.5 [ 120
1236 Tz | 008 (D24 (008 | 024 | OB | 020 | O0B | 020 | 008 | 024 | OUDE | 0.24 | 008 | OU4 = = 008 | 020 | 008 | OB
N @ (05 | MWD |05 | MO0 | 05 (00| DS (00 05 | N0 05 | 1.0 | 05 | 110 = = 05 | #0.0 [ 0.5 | 9O
fz | 015 | 024 | 045 | 024 | 015 | 020 | 045 | 020 | 045 | 024 | D15 | 0.24 | 045 | D24 = = 015 | 020 | 045 | OB
APKT 1003..
ap |05 |90 |o5 | 90 (o5 |80 | o5 |60 |05 )| 90| os | @0 os | o0 | - - | o5 | &0 |os | 7D
fz - - - - - - = = = = - - - - |oo7 |oso| - - - -
APKT 10.. AL
@ | - - - - - - - - - - - | - - - | os [an | - - - -
fz - - - = = = 008 | 018 | 006 | D22 = = = = = = 008 | o8 = =
APKT 10.. M5
E = = = = = = 0z | B0 0.5 an = = = = = = 05 50 = =
APKT 1604 fz | D15 | 028 | 015 | 026 | 015 | 023 | 015 | 023 | 015 | 028 | OU15 | 0.28 | D15 | D2 = = o1s | 023 | 015 | 020
N ag 05 | 150 | 05 | 150 | 05 | 14D | O | 940 | @5 (150 | O5 | 120 | 05 | 150 = = 05 | 4.0 | 0.5 | 130
iz = = = = = = = = = = = = = = 0.07 | OLED = = = =
APKT 16.. AL
a | - - - . - - - - - - - - - - | o5 |150| - - - .
fz - - - - - - | oo | oz |ooe | nas | - - - - - - | ooe | oo | - -
APKT 16.. M5
ag = = = = = = 05 | 140 | 05 | 150 = = = = = = 05 | #4.0 = =
fz | 026 | 0,40 | 026 | D40 | 026 | 035 = = = = = = = = = = = = 026 | 0230
APKT 16.. HC
ap 05 | 150 | 05 | 150 | 05 | 140 = = = = = = = = = = = = 0.5 | 130
APMT 1135 fz | D15 | 025 | 045 | 025 | 045 | 020 | 015 | 020 | 045 | 025 | D15 | 0.25 | 0.5 | D25 = = 015 | 020 | 045 | DB
- ag 05 | 100 | 0.5 | 100 | 05 | 9.0 0z | @0 0S | 00| OS5 | 10| Q5 | 10D = = 0s o0 0z | 80
APMIT 1604 fz | 016 | O30 | 016 | 030 | 016 | 025 | 016 | 025 | 0.96 | 030 | OU16 | 0.30 | D16 | D30 = = 01e | 025 | 016 | D20
B @ (05 | 150 | 05 | 150 | 0.5 | 14D | 05 | 940 | 05 | 150 | 05 | 150 ) 058 | 150 = = 05 | 40 | 0.5 | 130
fz (021 | O35 | 021 | 035 | 021 | 030 | 027 | 030 | 021 | 038 | 021 | 035 | 021 | L35 = = 021 | 0LE | 021 | D26
ODMT 0603..
dy | DS 35 |05 | &5 | 05 | 30 | OE | 30 0S| 35 | OS5 35 | 0.5 | 35 = = 0.5 30 | 05 | 25
Tz | 026 | D0 | 036 | D40 | O35 | 0.35 = = = = 026 | 0.40 | 026 | 02D = = = = 036 | 030
ODMW 0605..
ap 05 35 | 05 is 05 | 30 = = = = 035 35 05 | 35 = = = = 03 | 25
fz | D22 | OSO | 022 | OS50 | D22 | 045 = = = = D22 | 0.50 | 022 | D50 = = = = 022 | 02D
OFER 0704..
ag 05 40 | 0.5 40 | 05 | 35 = = = = 05 | 40 05 | 40 = = = = 0z | 30
fz | D15 | 025 | 015 | 025 | 015 | 020 | 015 | 020 | 015 | 025 | D15 | 0.25 | D15 | D25 = = 01s | 020 | 315 | DB
OFMT 05T3..
ag 0s 30 | 0.3 an 03 | 25 oS | 25 0.5 b | 05 3.0 05 | 30 = = 05 25 0z | 20
ONMU fz | D22 | 050 | 022 | D50 | 022 | 045 | 022 | 045 | 022 | 050 | 022 | 050 | D222 | OUSO = = 022 | D45 | 022 | 040
- a3 0s 2.5 | 05 5% | 05 | 5D os | 80 [0S a5 | 05 2.5 05 | 55 = = 0s 2.0 0z | 45

¥ Tz - fead (mmitacth)
» ag - awial depih of cut mm)
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VDI GROURP
o e e | 15 60 10-11 12-13 14 15-18 1718 | 2125 | 337 8
E— o | 112 | 1314 15 21,23 22 31-32 2 7174 | 4153 16
ETS02 | 140-240 | 120-220 | 70-150 | 120-200 | 140-250 | 140 -220 | 150 - 240 - 25-45 | 40-80
;‘:’E ETE2P | 140-240 | 120-220 | 70-150 - 140 -220 | 150 - 240 - 40 - B0
ET20P - - - - - - 300 - 800 -
Inser -E g min | max | min | max min (max | min |[max | min |max | min | m3x | min |max | min | max | min | max | min | max
[Tl -
Tz 0is |025 | 045 | 025 |05 | 020 | 045 | 020 | 095 | D25 | W15 | 025 | 15 | D25 = = LS | 020 | D15 | 18
RDKT 0802.. -
an 0.5 40 0.5 440 50 35 0.5 35 0.5 4.0 0s 4.0 0.5 40 = = LS s 0.5 30
Tz = = = = = = 008 | 020 | 0.08 | 025 = = = = = = Los | 0.20 = =
RDKT 08 MS i
ap = = = = = = 0.5 35 0.5 4.0 = = = = = = LS s = =
Tz 018 | 035 | 0.18 | 0.35 | 0112 | 0.30 = = = = = = = = = = = = 018 | L=
RDKT 08.. HC
an 0.5 40 1L 40 os 35 = = = = = = = = = = = = 05 in
Tz 015 |08 | 045 | O28 |05 | 023 | 045 |02 | 0Ms | 028 |05 | D28 | O.15 | D=8 = = 0is | .33 | 15 | L0
RDKT 10T3..
Ap L1 =0 0.E 5.0 os 4K 0.5 4= 0.5 54 0= 5.0 0.5 50 = = 0Ls 4K 0.5 40
Tz = = = = = = 008 | 0.2 | 0.08 | 0.28 = = = = = = oo | 0.3 = =
RODKT 10.. MS
a, | - - - - - - | o5 | 45 | o5 | =a - - - - - - os | 45 - -
1z 022 | 040 | 022 | 040 | 22 | 035 = = = = = = = = = = = = 022 | 020
RDKT 10 HC
3p L1 50 0.5 5.0 os 45 = = = = = = = = = = = = 0.5 40
Tz 020 | 030 | 020 | 0.30 |00 | 025 | 020 | 0= | 0.20 | 0.30 | .30 | 0.30 | 020 | D30 = = 030 | 035 | o200 | 0LEE
RDKT 1204..
-] 0.5 &0 0.5 5.0 os 5.5 0.5 55 0.5 &0 0= 6.0 0.5 6.0 = = 0Ls 55 0.5 50
Tz = = = = = = 010 | L= | 090 | 0.30 = = = = = = .10 | o.2s = =
RDKT 12.. MS
an = = = = = = 0.5 55 0.5 &0 = = = = = = LS 55 = =
Tz 022 | 040 | 022 | 00 | 22 | 035 = = = = = = = = = = = = 022 | 30
RDKT 12.. HC
an 0.5 &0 1L 5.0 os 5.5 = = = = = = = = = = = = 05 50
Tz 040 | 00 | 090 | O30 | 090 | O.1B = = = = 040 | 020 | O.90 | LA = = = = o0 | oS
RDKW 0501..
an L1 15 1L a5 os 20 = = = = 0s 25 0.5 5 = = = = 05 18
1z 042 | 025 | 012 | 025 | 092 | 023 = = = = 04z | 02= | 042 | L2 = = = = 012 | 020
RDKW 0702..
] 0.5 is 0.5 a5 os 3.0 = = = = 0s 35 0.5 35 = = = = 0.5 25
Tz 043 | 025 | 0.13 | 025 | L13 | 0.23 = = = = 13 | 025 | @43 | L= = = = = o013 | bz
RDKW 0802..
B L1 40 0.5 40 os 35 = = = = 0s 40 0.5 40 = = = = 0.5 30
Tz 016 | 030 | 0.9 | 0.30 | .15 | O.28 = = = = 0Lis | 030 | 0.6 | 020 = = = = o6 | LZZ
RDKW 10T3..
3p 0.5 50 0.5 5.0 os 4.5 = = = = 0= 5.0 0.5 50 = = = = 0.5 40
Tz 016 | 025 | 0.9 | 0.35 | OL15 | 0.30 = = = = LS | 035 | 016 | O35 = = = = o6 | LZS
ROKW 1204..
-] L1 &0 0.5 L] os 5.5 = = = = 0= 6.0 0.5 6.0 = = = = 0.5 50
Tz o0 |00 | 090 | D20 | DD | OB | OO0 | D92 | 090 | 020 | L1D | D200 | .90 | D20 = = 010 | 098 | 10 | IS
RDMT 0602 -
an 0.5 A 0.5 an os 2.8 0.5 e 0.5 20 0s a.n 0.5 30 = = LS 2.8 0.5 5
Tz o0 (022 | 090 | D24 | DD | 020 | 010 | D20 | 090 | D242 | L1 | 0.24 | 090 | D24 = = 010 | 020 | 10 | 8
ROMT 0803..
Ap L1 40 0.4 40 os 35 0.5 s 0.5 40 0= 40 0.5 4.0 = = 0Ls ik 0.5 2
Tz 016 |00 | 0.9 | 0.30 | O1s | 025 | 046 | 0.2 | 0.6 | 0.30 | L1s | 0.30 | O.96 | D30 = = Lie | 0.3 | L1E | OLZ2
ROMT 10T3..
By 0.5 =0 0.E 5.0 os 4= 0.5 4= 0.5 54 0= 5.0 0.5 50 = = 0Ls 4K 0.5 40
1z 020 |05 | 020 | 0.35 |00 | 0.30 | 020 | 030 | 020 | 0.35 | 030 | 035 | 020 | D3 = = 030 | 0.30 | o200 | 0LES
RODMT 1204..
] L1 &en 0.5 ad oz 5.5 0.5 55 0.5 &d 0s 6.0 0.5 6.0 = = 0Ls 55 0.5 |
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VoI GROUP
O 273 et G 1-5 B-8 10-11 12-13 14 15-16 17-18 21-25 31-37 as
EMG GROUP
Eurpn Ut Brougy | 11712 13-14 15 21, 23 22 31-32 a3 71-74 4153 18
ETG02 140 -240 | 4120-220 | 70-150 | 120 -200 | 140 -250 | 140-220 | 150 - 240 - 25-45 | 40-80
;‘% ETG2P 140 -240 | 120-220 | T0-150 - - 140 - 220 | 150 - 240 - - 40 - 80
ET20F - - - - - 300 - 80D - -
Insert -E g min i 8 min Max min 3% min MaEd min Mmax min Tk min i min MK min max min i
[T =}
=z iz 0.2s 012 OLZ5 1R 023 = = = = 02 | 0325 1 ] 0.2s = = = = 0.az 020
ROMW DE0Z._ =
- o] s 10 0.c a0 0E 25 - - - - OE 3.0 os an - - - - o= 20
iz i3 0.2s | 0.13 OS5 013 | 023 = = = = 013 | 025 | .13 0.2s = = = = 0.z .20
ROMW 0802
B (=] 4.0 a.s 4.0 0.E 35 - - - - oE 410 s 4.0 - - - - o= an
= [« [ 030 01e 020 0.is 028 - - - - p.is | 0.30 [ -] 0.30 - - - - 1k [ 022
ROMW 10T3..
L 1] (=K1 g0 0.5 AL | 1 45 = = = = 0E 5.0 s ED = = = = os 4.0
Tz [« [ 035 | 4.1k [ 0.is | 0.30 - - - - 0D.is | 0.38 | D46 0.3s - - - - [ [ 0.2s
ROMW 1204
- o] (s B.0O a.s (-] 0E 5E - - - - oE &0 os ED - - - - o= ED
iz [« [1] 0.24 010 o4 1 (o] .18 [« [1] (1 -] a.io oz 010 | 024 o.10 0.24 = = 0.10 .18 1 [n] 0.15
RPMT 08T2.
B (=] 4.0 0.5 4.0 0.E 25 os 1L 0.5 40 0.E 410 s 4.0 - - 0.5 3.5 0= 3.0
= [0 [ 0.30 | 016 020 s | 025 [0 [ -1 0.2s 0.1E 00 0is | 0.30 | D16 0.30 = = 0.16 025 1 [ 0.20
RPMT 10T3.
L 1] (= K] g0 .5 =0 (1 45 os 4.5 0.5 50 0E 5.0 s ED = = 0.E 45 0s 40
= o0 035 020 [ 020 0.30 o0 0.30 020 0Es 020 | 0.35 020 0.3s - - 020 0.30 0.0 0.35
RPMT1204_.
3 o5 A ] 0.5 (1] (11 55 os EE 0.5 &0 (11 6.0 s E.0 - - {11 5.5 os 5.0
iz = = = = = = [« [1] 0.2s a.io 00 = = = = = = 010 025 = =
RPMT 12 MS -
- o] - - - - - - o= EE 0.5 (Ax] - - - - - - 0.E g5 - -
iz 16 030 0.16 | 030 1k [ 2% = = = = opis | 0.30 | 096 | 0.30 - - - - (1% [ 0.2
RPMW 10T3..
[ o] oS c.0 0.5 | {11 45 = = = = (1L 5.0 s c0 = = = = os 4.0
= [« [ 035 | 4.1k [ 0.is | 0.30 - - - - 0D.is | 0.38 | D46 0.3s - - - - [ [ 0.2s
REMW 1204..
a3 os B.O 18- &l 0.5 55 = = = = (11 &0 s [M] - - - - s E0
= = = = = = = =0 1.15 a.s0 120 = = = = = = 0.60 1.15 = =
SOMT 12 MS
- o] - - - - - - os 0.8 0.5 10 - - - - - - 0.5 0.8 - -
1z [eH=] 140 | 060 140 0.e0 1.38 - - - - 0.&0 140 | 00 | 1.40 - - - - =] 1.30
SOIMW 1204..
3 (= K] 1.0 .5 1.0 (1 (1] = = = = 0E 1.0 s 1.0 = = = = os 0B
=z o2 035 022 035 1 ] 0.30 0nz2 0.30 0.2z 035 022 | 0.3 022 0.3=5 = = 022 0.30 1 ] .25
SOKN 1203 =
a3 os B.O .5 (4] 0.5 5.5 os EE 0.5 &0 (11 6.0 s E.0 - - {11 5.5 os 5.0
iz o2 D40 | 022 40 0.2z | 035 ozx2 035 0.2z o4a 022 | 040 | D22 0.40 = = 0.22 0.35 1 0.30
SDKN 1504
B (=] 7.5 a.s TE 0.E | o= 7.0 0.5 TE oE T.5 s T.E - - 0.E 7.0 0= 5L
= o2 0.3s 02z ] 1) 0.30 oz2 0.30 022 ozs 032 | O.35 {1 /B 0.3s - - 0.3 0.30 1 ) 0.2=
SEKN 1203_. -
L 1] (=K1 5.0 0.5 (] 1 55 os 55 0.5 (Ax] 0E 5.0 s E.D0 = = 0.E 5.5 0s 5.0
Tz [« F 0.30 | 0.14 030 044 | 028 [0 0.2= 0.14 =0 D44 | 0.30 | D32 0.30 - - 014 025 0.4 0.20
SEKR 1203_.
- o] (s B.0O a.s (4] 0E 5E o= EE 0.s (Ax] oE &0 os ED - - 0.E g5 0= 5.0

b fz - Tead {mmitooth)
b ap - axial depth of cut {mm)
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VDI GROUP
o | 1 &0 10-11 1213 14 1516 | 17418 | 2125 | 3137 28
EMG GROUP
e o gy | 1112 13-14 15 21,23 22 31-32 33 7174 | 4153 16
_ ET&D2 140 - 240 | 120-220 | TO-150 | 120 -200 | 140 - 230 | 140 - 220 | 130 - 240 23 -43 40 - 80
.;':E ETEZP 140 - 240 | 120 -220 | 70 -150 - 140 - 220 | 150 - 240 - 40 - 80
ET20P - - - - - 300 - 800 - -
Insert -E g min max min | max min max min max min | max min max min | max min | max min max min max
o
SEKT 1204.. Tz o.20 035 0.20 0.28 0.0 0.30 o.20 030 0.20 0.3g8 185 0.3s o020 0Es - 15 0.30 o0 0.Z=
-] 0.5 [Ax] {1 5.0 os 5.5 .5 L] 0.5 (A1) 0s 6.0 .5 s = 0s 5.5 (=] ED
Tz = = = = = a.o07 0.55 =
SEKT 12._ AL
ap - - - - - 05 | &4 -
SEKT 12 MS Tz - - 0.08 1 0.08 0.30 - - 0= 0.2
-1 - - (=] EZ 0.E =0 - - 0= 5.0
Tz R - 030 | 0.1 0.30 045 | 025 0.15 1 0.1s 0.30 0.as 0.30 | 0.15 030 = 0.is 0.25 (w1 -1 020
SEKT 13T3.
3p as B5 0E &5 s E.0 0.5 B 0.c &5 (111 5.5 a5 ELS - oS 6.0 o5 ELS
SEKT13_AL |- - - - - 007 | 0ss R
ag - - - - 05 | &5 -
1z = = 0.o08 1 0.0e 0.30 = = = 1 s 0.2
SEET 13 MS
ap = = 0.5 [ ~An] 0.5 &5 = = = 0s 5.0
Tz 020 035 020 0.35 0.0 0.30 020 030 020 0.35 0.0 0.35 0.20 03 - 020 0.30 020 (1
SEMT 1204
B 0s [Ax] 0E &0 0= EE 0.5 E= 0E =0 0= 5.0 (s [ Ax] - 0= 5E (2] EQD
SEMT 13T3. Tz (8 I 030 | 0.1 0.30 045 | 025 0.5 1 0.1& 0.30 0.as 0.30 | 0.15 030 = 0.is 0.2 (= E-1 0.20
-] a.s (1] (1L 6.5 os B.0 [= -] [ Ax] 0.5 E.5 0s 6.5 (=] BES = 0s 6.0 .5 ES
Tz 0AE 03 0.1 0.2 1 [ 0.28 016 1] 0.1 0.3 1 [ 0.34 0.16 034 = (1 [ 0.28 oL1s 11
SNMX 1206..
-1i] 0s [Ax] 0E &0 0= EE 0s == 0E =0 0= 5.0 (s [ Ax] - 0= 5E (2] EQD
SPKN 1203 Tz oAk 034 | 0.1 034 0.4s | 0.28 - [ [ 0.34 | O.16 034 - - [ £ -1 1
-] a.s a0 {1 5.0 os B.5 = 0s 5.0 a.s 50 = = .5 BO
1z i |1 03 0.15 0.2 0Aas 0.28 = oS 0.34 0.15 034 = = [ £ 11
SPEN 1504,
L] 0.5 1Z0 0.5 12.0 s 11.0 = 0s 1.0 a5 120 - - o5 100
Tz (8 I 035 | 0.4 028 045 | 0.30 =% -1 030 0.1 0.38 0As 0.3 | 0.5 0= - 0aAs 0.30 oLis 1
SPER 1203..
L) a.s (A x] {1 &0 os 55 (=] ES 0.5 (A1) 0s 5.0 a.s [ Ax] = 0s 5.5 .5 ED
SPUN 1203 Tz o0 03 0.10 0.2 (1 [n] 0.30 = (1 [5] 0.34 o.10 034 = = (0% L] 11
L] 0.5 (] 0.5 6.0 os 55 = 0s 6.0 a5 ] - - o5 (]
Tz [ I 030 | 0.4 0.30 0is | 0.2= - 1k 1 0.30 | 0.18 0.E0 - - ois 0.0
TPEMN 1603.
Bp a.s 120 0.E 1210 (=1 11.0 - o= 120 (=] 120 - - (=] 100
204, Tz oAT 0.0 0147 0.30 0AaT 0.2s = AT 0.320 o.a7 030 = = o7 020
ap 0.5 180 {1 18.0 os 16.0 = 0s 18.0 0.5 120 = = 0.5 40
Tz o1& O0.Z8 | 0.1 o.z8 0is | 0.25 .15 0= 0.1s 0.28 bAsS 0.28 | 0O.15 0ZE - obAs 0.25 15 0.0
TPER 1603.
-1 a.s 120 0.E 1210 (=1 11.0 (=] 11.0 0.E 12.0 o= 120 (=] 120 - 0= 11.0 (=] 100
204, Tz OiE 035 0.1E 0.35 0.z 0.30 o.18 030 0.1E 0.35 0.is 0.35 0.18 03s = 0.is 0.20 o.i8 1
3p 0.5 180 {1 18.0 os 16.0 [= -] 150 0.5 18.0 0s 1B8.0 .5 150 = 0s 16.0 a.s 4.0
1z o.08 0.Z7 | 0.08 ozZ7 oo | 0.23 - (10 ] 0.27 | D0.08 1 e - - 0.08 0.0
TPUN 1603
-1i] a.s 1210 0E 1210 o= 11.0 - (1 120 0.5 120 - - 0.5 100




